A

WAGNER

Leopard 35-70

FARTL—h—ERR

[IE00099A

2024.02

i A T ERKEE T DHERDHVET,

1k -



Leopard 35-70

A
WAGNER

W10-70 | W18-40 | P28-40 | 1.35-70 | 1.35-150 | J75-150 | J38-300
OR Tk 366112 | 366110 | 367103 | 368103 | 368106 | 369121 | 369125
1. =7 —F—H— 366080 | 366080 | 367080 | 368080 | 368081 | 369080 | 369080
2. WEhR T 368070 | 367070 | 367070 | 368070 | 368071 | 368071 | 369070
3. oIV 367529 368529
¥13,000 ¥12,700
4. RSV 367530 368530
¥2,900 ¥4,700
5. Hriark—2A 368958 367958 368958 369958
Huf 4 2 ¥9,000 ¥6,900 ¥9,000 ¥14,500
6. >—UL T Uy ¥ 9974110 9974109 9974110 9974126
¥2,200 ¥960 ¥2,200 ¥2,500
7. T —AHE 236219
¥7,700
@7 AFR IV 9907133 9907134
¥960 ¥1,300
@EIEZANE—E vk 2205000 2205002 2205003
¥240,000 ¥240,000 ¥260,000
@V H—2 3T ok 2205010
BERE - AT
®O=7 — G0 2104255 2104254 2104253
¥3,100 ¥1,100 ¥1,700
OO AFR—Z 2206704 2206700 2324116
¥31,200 ¥46,700 ¥35,800
DO N7 452 — 229209 2230342
¥7,500 ¥7,800
®OW AT 4L H— 250245
¥7,100
QUE—r R —AE Y] 2206705 367189
¥14,400 ¥31,000
WV MFT 75— 2104490
¥1,900
D7 4B — 2205801
L¥al—F—toh ¥28,300
LEO0099A
2
Ak - 0 - MR T RKEE T ERHVET, 2024.02



Leopard 35-70 WAENER

L7 /\—k ¢ 150 x 75[PN 368080](L35-70)

[E00103A

3
AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70

A
WAGNER

POS RS EEE4 o FEAM 6%

1 368324 |FAARZL AR 2 7,800

2 9925026 |SETw y— 2 540|M14

3 9907125 |~FHu—T7ZyEhal 2 540(T25 - 5.8 X 40

4 368311 |8 — 1 49,600

5 368319  |[{HE~vh 1 14,700

6 368310 |15 es 1 30,600

7 9974101 |0 V» 1@ 640( 7o TR —

8 9974100 |0 Vr 1@ 760|\7  Fg o R—

9 9900313 |/ AR LR 3 230[M8 X 25

10 9920102 [T y— 3 180[M8

11 368309 | NTL T T R— 1 30,600

12 9974096 |0V 2@ 540

13 1.423.06 [HER L —L 2@ 14,700

14 368286 |Z4AF 1 6,400

15 9970149 |2 —VorUL 1@ 600

16 9998674 | 7T/ 2 2,200|=  ha— N
17 9998274 | F5/ 2 2,200|= hE— N
18 9998675 |75 2 2,200[75>

19 369290 [/SAmy ko7 2 8,000

20 9974217 |avy Ry —1 ®) 2,700

21 368320 [Ahwt— 2 2,600

22 367307 |[v—UrrT5s 2 710

23 9974085 |0 Vs 2@ 450z b — L=k
24 9943081 |z bm—a=vk 1 45,000

25 368038 |[AS—nmys 1) 4,400

26 368313 [FL— ) 1,100

27 9943081 |=vbm—a=vk 1) 45,000

28 9974142 |0V (6) 540

29 367313 |=7—7 gk — 1@ 5,300

30 367324 |74 H—HHz 1 2,600

31 367314 |arhE—n T —T7 L H— 1@ 2,000

32 367325 |Amw i 1 1,100

33 2328607 |T=7—arbm—La=vk 6 vk 1 89,600

34 9906011 |/ NAFR/LE 4 250|M6 X 65

35 9999506 |=7—LFalX—tvh (1) 38,700

36 9998725 |JE & (1) 7,700

37 9974086 |0 Ur 1)@ 450

38 3055026 |O V2 1 380

40 9900225 | AR/ R 3 1,500[M10 X 150

11 9920106 |F-Uv y— 3 210|M10

49 2359171 |z ha—n oy 1 190,000

43 9974087 |0 V» 2@ 1,200

44 368312 [TV A —HN— 1 25,800

45 368304 |7 — 4T 1 15,400

46 9971137 |0 Vy 2 2@ 690| =7 — 347

47 367305 |avhm— LT — R 1 4,900

48 9974089 |0 Vr2 2@ 4002 b —/)L 7 —
49 368303 |2V & — 1 38,700

50 9998662 | AR ~vR 1 41,700

51 9920110 |EUvip— 2 380|M20

52 368302 |[EANrBEvR 1 33,700

53 9910605 | A7k 1 1,400{M20

54 368316 |75 1 170,000

55 9962019 |Fw v 1 5,300

56 9974091 |2 —Vr 7 8yF 1@ 2,600

368995 |7 —F—&—HP—E 2Bk [ ] 46,400
4 LE00103B
Ak - 0 - M T T ERKERET2HEN/HVET, 2024.02



Leopard 35-70 WAENER

70cc[PN 368070](W10-70/L35-70)

.\1
6‘@ 1. P~
40 T~
11@ ) $ \‘l
10— '
11— = » D 27
10— = ﬁ
11— D = D—— 25
38 7——@ a =
s S 18—}
' @o 23

IEOO111A

5
AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70 WAENER

POS RS tEE = TEAM ik

1 368501 | 7T 1 46,400

2 9907124 |/ANfRI/LE 3 1,200[M10 X 200

3 9920106 |*FETw p— 6 210|M10

4 368502 | Eff UL — 1 49,600

5 9974092 |0V /B 1@ 1,200

6 368516 [PAR—K) 1 4,800

7 368519 |[FLwiy—UL 1 1,900

8 9998670 |VT—T Ul p— 1@ 7,800

10 367522 |V /3wy 2@ 4,600(TG
367900 [V /3w (2) 6,400(T
367922 |V /3wy 2) 8,800(L

11 367523 |V /3w 3@ 4,000|PE

12 368518 [P AR—h) 1 8,700

13 368519 |[FLwir—UL 1 1,900

14 9998671 |V T—T Tyl p— 1@ 7,300

16 368522 |V /3w 2@ 6,000{TG
368900 |V /3wy 2) 6,900(T
368922 |V /3wy 2) 13,500|L

17 368523 [V /v 3@ 5,300|PE

18 368505 |ETAR 1 87,600

19 368506 |mvZial 1 8,800

20 368510 |[mhHHFRY —F 1 22,700

21 368528 [0V H 1@ 1,700

29 9941512 |FpAR—/L 1@ 2,900[ ¢ 15

23 368511 | F752 1 24,200

24 368513 |V 1 1,500

25 368512  |EY 2 3,100

26 368503 | Pz UL A — 1 56,000

27 368525 OV 2@ 2,200

28 9974107 (O U2 1@ 960

29 368504 | AN 1 41,700

30 368507 |[R—/LAAR 1@ 3,000

31 9943082 |fpAR— L 1@ 5,900( ¢ 28

32 368527 |0 UL 1@ 1,200

33 368509 [ AFpT —h 1 24,200

34 9900225 [/AFAR/LK 3 1,500[M10 X 150

36 9974089 |0V 6@ 400z hr—L =7 —

37 367306 [AX—H— 3 5,300

38 367531 (A ATV 1 6,500

39 9974093 [0V 1@ 930

40 367532 |y TV TR — 1 2,900
368990 |[BEIRL T —E 2B VR [ 73,300

LEOOI1IA

% 368990 MEPRL 7 —E Ay MNIIE, PNI9T4116 O U2 (35-150/75-150 F ) A& £ E
6
kR - dn - MRIE T E AR T2HBHVET, 2024.02



Leopard 35-70 WAENER

SFEI ILF—t vk - S (G3/8)[PN 2205002]

so
5
7
2
6—5

—

(@

L

367962 |UH—rh—2EufT4 A
9970103 |~ =V Z U p—
2104983 |FR—AT a1k SUS - G3/8

4,000/G3/8 X M20
460(14 X 18 X 1.5
3,300

10
9 0.
s
12—
18— |
14—8 IE00121A
POS B B B JEAT ik
1 367910 |[Z4NH—RT A 1 70,200{HPF
2 367911 |[TANE— T 1 91,000|HPF
3 367914 |0V 1 2,400
4 9907127 |77/ 2 6,400
5 367912 [Fwh 1 32,000({HPF
6 9894245 |7 AT YT 1 1,700
7 14068 |7 4/LZ— 100 Avi = 1 7,800
8 3514058 |Z7A4NH—AT YL 1 930
9 9925024 [ —Ur T Uy p— 1 760[A18 X 22 X 2.5
10 9998680 | H— 1 13,100|G3/8 X M20 X 1.5F
11 367916 |[V/rvh 1 9,400
12 9998679 |UX—1 3T 1 27,500
13 9974111 [ —Ur T Uy v — 1 640
14 1
16 1
17 1

LEOO121A

7
AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70 WAENER

Boavtvk

[.35=70
e Je 3
~3-3 IF00012A

POS S 4 B TEAM k=

1 2206700 | AR—RAEVE 1 46,700
1-1 2206060 | Ads— A /LR (1) 14,700
1-2 2240083 |AR—ANRR -35 (2) 660(25 ~ 35
1-3 2240078 |[AF VT HR—A (1) 15,500 ¢ 25 X 800 1% HH
1-4 2240040 W AR—AH/ AT (1) 13,000

2 2206705 (VX —LiR—AEvh 1 14,400
2-1 2241111 (V¥ —rF—AH=v7 /L (1) 940
2-92 2240018 [V —rA—AHANAF VR (1) 2,700
2-3 2240022 |[F—ANLK 20 (2) 780[13 ~ 22
2-4 2240071 |[AFVL T HR—A (1) 6,100{ ¢ 12 X 800 BHATL X
2-5 2240042 (V& —> FR—AH AT (1) 5,000

3 2230342 [T T4 E—FE V] 1 7,800{ ¢ 100
3-1 2240345 |[ZANERT 4 T (1) 9,800[ ¢ 100
3-2 2240346 |7 (LA — (1) 2,800/0.8 mm ¢ 100
3-3 2240347 (AT (1) 2,100

LFO0012A
8

AR « i - MRS T ERKEET2HR/HVET, 2024.02



Leopard 35-70 WAENER

A —tvhk

[.35=70
[E00010A
POS S 4 $og TEAM ik
1 368021 |FmU—T7L—LA 1 120,000
1-1 9900218 [NMAAR/LK (4) 310|M6 X 35
2 367022  |HiH#g - N RL 1 71,200
2-1 9907129  [/SARILE (4) 590|M6 X 80
2-2 9910204 |DDAIEDLESH TV (6) 260
2-3 9907045 [SARILE (2) 310|M6 X 55
2-4 9994957 |#AY 2) 9,900
2-5 340372  |Uvip— (4) 670
2-6 9995302 (AU (4) 400
LEO0010A

9
AR « i - MRS T ERKEET2HR/HVET, 2024.02



